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माÚयǓमक िश¢ा परȣ¢ा  
(Secondary Education Examinations - SEE) 

Compulsory Science 
Time: 2:15 hrs                                                                  F. M.   75 
 Group - A  
1. tnsf k|Zgx?sf] 5f]6f] pTTf/ n]Vg'xf];\ .    15×1=15 

Give short answer to the following questions 
a. :jtGq v;fO eg]sf] s] xf] < What is free fall? 
b. cfls{ldl8h l;2fGt pNn]v ug'{xf];\ . State Archimede's principle. 
c. hLjfjz]if OGwg eg]sf] s] xf] < What is fossil fuel? 
d. Jf:t'df ePsf] tfksf] kl/df0f s'g b'O{ s'/fdf e/ k5{ < 

On what two factors does the quantity of heat depend? 
e. sGe]S; n]G;df j:t'nfO{ sxfF /fVbf cfs[lt j:t'eGbf ;fgf], pN6f] / jf:tljs x'G5 < 

Where an object should be kept in front of a convex lens so that the image becomes 
diminished, inverted and real? 

f. lgDg /f;folgs k|ltlj|mof s'g k|sf/sf] xf] < lrGg'xf];\ . 
Identify the type of chemical reaction given below. 
Ca   +   H2SO4                CaSO4  + H2 

g. s8f cDn eg]sf] s] xf] < What is strong acid? 
h. cfw'lgs k]l/of]l8s tflnsfdf ;'g s'g ;d"x / lkl/o8df k5{ < 

In what group and period does gold lie in the modern periodic table? 
i. Af]s]nfO6 agfpg s'g s'g sRrf kbfy{x? k|of]u ul/G5 < 

What are the raw materials used to make the Bakelite? 
j. /]zd ls/fsf] hLjgrj|mdf sf]s'g eg]sf] s] xf] < 

What is cocoon in the life cycle of silkworm? 
k. KoflGj|mofh u|lGyn] pTkfbg ug]{ b'O{ xdf]{gsf] gfd n]Vg'xf];\ . 

Name two hormones secreted by Pancreas. 
l. ;]tf /Sts0f pTkfbg x'g] z/L/sf s'g} b'O{ efux?sf] gfd lbg'xf];\ . 

Write any two parts of the body in which white blood cells are produced. 
m. Sn]gfOkm]N6/ l;G8«f]d eg]sf] s] xf] < What is Klinefelter's syndrome? 
n. :jk/fu;]rg eg]sf] s] xf] < What is self-pollination? 
o. sfaf]{]gfOh];g eg]sf] s] xf] < What is carbonization? 

 
 

Group B                                 13x 2 = 26 
2. lbOPsf] lrqdf  b'O{cf]6f ljs/dWo] Pp6fdf z'2 

kfgL csf]{df g'gkfgL /flvPsf] 5 . A / B dWo] 
s'g t/nsf] 3gTj a9L 5 n]Vg'xf];\ . t/n A df 
km'n lsg pq]sf] xf]nf < sf/0f lbg'xf];\ .                                       
Figure shows two beakers one with pure water and another with salty water. Out of A and B 
name the liquid having more density. Why does the egg float on the liquid A? 

3. Go'lSno/ km\o'hg / Go'lSno/ lkm;gaLr s'g} b'O{ leGgtfx? Nf]Vg'xf];\ . 
Write any two differences between nuclear fusion and nuclear fission. 

4. pRr tfkj|md gfKgsf] nflu kf/f] ydf]{ld6/ k|of]u ul/G5 eg] Go'g tfkj|md gfKg 
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cNsf]xn ydf]{ld6/ k|of]u ul/G5, lsg < sf/0f lbg'xf];\ .  
Mercury thermometer is used to measure higher temperature but alcohol 
thermometer is used to measure lower temperature, Why? Give reasons. 

5. ;fOsnsf] j]u a9fpFbf To;df /x]sf] 8fOgfdf]af6 aNg] aNjsf] rds a9\5 eg] j]u sd 
x'Fbf dw'/f] aN5, lsg < sf/0f lbg'xf];\ . 

    Why does the bulb of a bicycle run with a dynamo glow brightly when speed of bicycle is 
increased and become dim when the speed is decreased? Give reasons. 

6. tn lbOPsf] On]S6«f]g ljGof; cWoog u/L lgDg k|Zgsf] pTt/ n]Vg'xf];\ . 
 Study the electronic configuration given below and answer the following questions on the 

basis of it. 
1s2, 2s2 2p6 , 3s2 3p6, 4s1 3d10 

(i) tTjsf] gfd / Ans n]Vg'xf];\ . 
     Name the element and write the block. 
(ii) o; tTjsf] kf/df0fljs ;ª\Vof / ;+o'Hotf n]Vg'xf];\ . 
      Write atomic number and valancies of this metal. 

7. pTk|]/ssf s'g} b'O{cf]6f ljz]iftfx? Nf]Vg'xf];\ . 
Write any two characteristics of a catalyst. 

8. lbOPsf wfpx?af6 kmnfd / tfdfsf] b'O{ b'O{ cf]6f wfpx? 5fGg'xf];\ . 
      Choose two ores each of iron and copper from the given ores. 

So'k|fO6 (Cuprite), DofUg]6fO6 (Magnetite), l;8]/fO6 (Cederite), aS;fO6 (Bauxite), 
ch]{6fO6 (Argentite), rfNsf];fO6 (Chalcocite) 

9. ldyfOn cNsf]xnsf] ;+/rgfTds ;"q / Pp6f pkof]lutf n]Vg'xf];\ . 
Write the structural formula of methyl alcohol along with its one use. 

10. Dff}/Lsf] hLJfgrj|mdf gKrn km\nfO{6 slxn] / lsg x'G5 < 
      In which time does the nuptial flight occur in the life cycle of honey bee? Why does it 

happen? 
 
11. lbOPsf] lrqdf A / B efusf] Ps Ps cf]6f sfo{ n]Vg'xf];\ . 
       Write the function of each of the parts A and B in the given figure. 
 

12. "pRr /Strfk vfgkfgsf] sf/0fn] klg x'G5 . " o; egfOsf] cfwf/df 
pRr /Strfkn] x'g] To:tf b'O{ vfgkfgsf Jojxf/x? n]Vg'xf];\ . 
"High blood pressure is also caused by feeding habits." Write two such habits  that cause 
high blood pressure. 

13. x]df]lkmlnofsf] s'g} b'O nIf0fx? Nf]Vg'xf];\ . 
Write any two symptoms of Hemophilia. 

14. lrqdf lbOPsf] tf/fd08nsf] gfd, cfsf/, d'Vo tf/fsf] ;+Vof / 
cfsfzdf b]Vg ;lsg] Ct'sf] gfd n]Vg'xf];\ . 
Write the name, shape, number of major stars and the season in 
which it is visible. 
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Group'C' 6×3=18 
 

15. ha 200gm lk08sf] Pp6f :ofp ?vaf6 k[YjLlt/ v:5 To;a]nf :ofpsf] k|j]u slt x'G5 / 
k[YjLsf] k|j]u :ofplt/ slt x'G5 < u0fgf u/L b]vfpg'xf];\ . -k[YjLsf] lk08 6×1024 kg / 
k[YjLsf] cw{Jof; 6.4×106 m)  

      Calculate the acceleration of an apple of mass 200gm, when it falls towards the earth? Also 
find the acceleration of the earth towards the apple? Show it with calculations. (Mass of 
the earth is 6×1024kg and Radius of the earth is 
6.64×106m)  

 
16. lrqdf b]vfOPsf] cfFvfsf] /]vflrq cjnf]sg ug{'xf];\ 

/ tn ;f]lwPsf k|Zgx?sf] pTt/ lbg'xf];\ . 
      Observe the ray diagram of eye given in the diagram and answer the following questions. 

i. of] s:tf] k|sf/sf] cfFvfsf] sdhf]/L xf] < 
  What type of defect of vision is this ? 

ii. cfFvfsf] o; k|sf/sf] sdhf]/L x'gfsf] sf/0f lbg'xf];\ . 
  Write the cause of this type of defect in eyes. 

iii. o; k|sf/sf] sdhf]/L x6fOPsf] cfFvfsf] gfdf+lst lrq ;+;f]wg u/L b]vfpg'xf];\ . 
  Show a modified and labeled diagram of eye after the   correction of this defect. 

17.  DofUg]l;odnfO{ clS;hg;Fu afNbf DofUg]l;od cS;fO8 aG5, pSt DofUg]l;od 
cS;fO8df kfgL ld;fpFbf DofUg]l;od xfO8f]cS;fO8 -cNsfnL_ aG5 . oL k|ltlj|mofnfO{ 
;Gt'lnt /f;folgs ;dLs/0fdf n]Vg'xf];\ / pSt cNsfnLsf] b}lgs hLjgdf Pp6f 
pkof]lutf n]Vg'xf];\ . 
When magnesium is burnt in oxygen it forms magnesium oxide. If water is mixed in this 
magnesium oxide, it forms magnesium hydroxide (alkali). Write the balanced chemical equations 
for these reactions. Also write a use of this alkali in daily life. 

18. "cfhef]ln sDkf]i6 dnsf] k|of]usf] nflu pRr k|fyldstf lbOG5 ." o; sygsf] kIfdf s'g} 
ltgcf]6f ts{x? /fVg'xf];\ . 
"High priority is given for the use of compost fertilizer." Put any three arguments in favour of this 
statement. 

19.  "la?jfdf ul/g] s[lqd k|hgg\ dWo] l6:o' sNr/ ljlwn] jg lj1fg, afujfgL / s[lif If]qdf 
7"nf] e"ldsf v]Nb5 ." o; egfO{nfO{ ltg a'Fbfdf k|i6 kfg'{xf];\ . 

      "Tissue culture method of an artificial vegetative propagation in plants plays a great role in 
forestry,   horticulture and agriculture fields." Clarify this statement in three points. 

20.  cf}Bf]lusLs/0f;Fu} P]ltxfl;s / k'/ftflTjs dxTTjsf :df/s / ejgx? Gfi6 x'g'sf] 
;DaGwnfO{ k|i6 kfg'{xf];\ . 
Clarify the relation between the destruction of historical, archeological monuments and 
buildings with industrialization. 

Group 'D'                  4×4 = 16 

21.  lrqdf lbOPsf] 6fG;kmd{/df k|fOd/L SjfOnsf] ;ª\Vof 
;]s]08/L SjfOnsf] eGbf rf/ u'0ff a9L 5 / pSt 
6fG;kmd{/sf] k|fOd/L ef]N6]h 220V eP ;]s]08/L 
ef]N6]h slt xf]nf < 6fG;kmd{/ / OGe6{/sf] sfo{ 
l;2fGt JofVof ug'{xf];\ . 
The number of primary winding is four times more 
than that of secondary winding in the transformer given in the diagram. If the primary 
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voltage is 220V, then calculate the secondary voltage. Explain the working principle of 
transformer and inverter. 

22. k|of]uzfnfdf sfa{g8fOcS;fO8 UofF; agfpg] tl/sfsf] lrq sf]/L s'g} b'O{ efusf] gfd 
n]Vg'xf];\ . pSt ljlwaf6 sfa{g8fOcS;fO8 agfpFbf x'g] ;Gt'lnt /f;folgs k|ltlj|mof 
n]Vg'xf];\ . sfa{g8fOcS;fO8 UofF;nfO{ s]xLl5g r'gkfgLdf k7fPdf s] x'G5 <  
Draw a neat diagram of the laboratory preparation of carbon dioxide gas and label any two parts. 
Also write the balanced chemical equation involved in this process. What happen when carbon 
dioxide gas is passed into lime water for a short period? 

23.  Pp6f /ftf] km'n km'Ng] s]/fp / ;]tf] km'n km'Ng] s]/fpsf] la?jflar j|m; u/fpFbf F2 
j+z;Dd k|fKt x'g] glthf rf6{df b]vfpg'xf];\ . F2 j+zdf x'g] lhgf]6fOk / lkmgf]6fOksf] 
cg'kft kTtf nufpg'xf];\ . sfnf] / ;]tf] d';fx?sf] ;dfud x'G5 / klxnf] j+zdf ;a} 
;Gtfgx? sfnf hGdG5g\ . ;]tf] lsg hGd]g xf]nf < 
Draw a chart showing the crossing between red and white flowered pea plants till F2 
generation. Find out the genotypic and phenotypic ratio of F2 generation. When the 
mating of black and white rats takes place, all the offspring produced in first generation 
are black. Why there are no white rats? 

24. Snf]/f]km\nf]/f] sfa{g Ps l:y/, ljiffSt gePsf], ck|HjgzLn / ;:tf] /;fog x'Fbf x'Fb} klg 
o;sf] k|of]u /]lKf|mh]/]6/, Pc/ slG8;g/ cflbdf ljZyfkg ug'{kg]{ sf/0fnfO{ ts{;lxt k'li6 
ug'{xf];\ . 
‘Although the Chlorofluorocarbon used in the refrigerators and air conditioners is a 
stable, non-poisonous, non-inflammable and cheap compound, it is to be displaced by 
other compound.’  Justify this statement. 
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Marking Scheme 
Group'A' 

1. 5f]6f] k|Zgsf] pTt/ 

a. Afflx/L cj/f]w ljgf g} s'g} j:t' u'?Tj k|j]usf] ultdf vl;/x]sf] 5 eg] To:tf] 
v;fOnfO{ :jtGq v;fO elgG5 elg kl/efiff lbPdf    1 cª\s  

b. s'g} j:t'nfO{ cf+lzs jf k'0f{ ¿kn] t/n kbfy{df 8'afpFbf lj:yflKt x'g] t/nsf] tf}n 
a/fa/sf] pWj{rfk t/n kbfy{n] j:t'df lbG5 elg cfl{s{ldl8hsf] l;b\wfGt n]v]df 
          1 cª\s  

c. sf]Onf / vlgh t]n jg:kltsf] cjz]if cyf{t k[YjLsf] leqL efudf k'l/P/ /x]sf 
hLjfjz]ifx¿af6 k|fKt ul/g] phf{nfO{ hLjfjz]if phf{ elgG5  1 cª\s 

d. — kbfy{df /x]sf c0f'x¿sf] ;ª\Vof - kbfy{sf] lk08_  0.5 cª\s 
— c0f'x¿sf] cf};t ultzlSt                           0.5 cª\s 

e. j:t'nfO{ 2 F eGbf k/ /fVbf     1 cª\s 
f. lj:yfkg k|ltls|of      1 cª\s 
g. h'g cDnnfO{ kfgLdf /fVbf w]/} h;f] c0f'x¿ H+ cfof]gdf 5'6\l6G5g\ eg] To;nfO{ s8f 

cDn elgG5 .       1 cª\s 
h. ;d'x (Group)  IB      0.5 cª\s 

Kf]l/of]8 (Period)  6      0.5 cª\s 

i. sfaf]{lns cDn (Carbolic acid)    0.5 cª\s 
km/\DoflN8xfO8 (Formaldehyde)    0.5 cª\s 

j. /];d ls/fsf] Ko'kf cj:yfnfO{ ;'/Iff ug]{ aflx/L uf]nfsf/ jf 8d¿ cfsf/sf] vf]nnfO{ sf]s'g 
elgG5 .       1 cª\s 

k. — OG;'lng (Insulin)       0.5 cª\s 
— Un'sfug (Glucagon)     0.5 cª\s 

l. Aff]g Dof/f]       0.5 cª\s 
lnDkm gf]8       0.5 cª\s 
lkmof] (Spleen) 
-oL dWo] s'g} b'O{ n]v]df k|To]ssf] 0.5 cª\s_ 

m. k'?ifsf] ;]S; s|f]df]hf]d (XY) df X sf] ;ª\Vof a9g uO{ (47, XXY) ePsf] cj:yfnfO{ 
s|f]df]hf]dsf] l8;\c8{/ Sn]gfOkm]N6/ l;G8«f]d elgG5 .       1 cª\s 

n. Pp6} km'nsf] PGy/df /x]sf] k/fus0f ToxL km'nsf]l:6Udf;Dd k'Ug] ls|ofnfO{ :jk/fu;]rg 
elgG5 . 1 cª\s 

o. hldgleqsf] pRR rfk / tfkqmdn] ubf{ af]6 la?jfx¿af6 sf]Onf aGGf] k|ls|ofnfO{ 
sfaf]{gfOh];g elgG5 . 1 cª\s 

 
Group'B' 

2. A t/nsf] 3GfTTj a9L 5 .      0.5 cª\s  
A t/n g'gkfgLsf]] 3f]n xf] h;sf] 3gTj km'nsf] eGbf a9L x'G5 .  0.5 cª\s 
To;}n] 3f]nsf] pmWj{rfk klg a9\5 .     0.5 cª\s 
km'nsf] tf}n / g'gkfgLsf]] pmWj{rfk a/fa/ x'g uO{ km'n g'gkfgLdf  plqG5 . 0.5 cª\s  

3.  
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Go'lSno/ km\o'hg Go'lSno/ lkm;g cª\s 
- cTolws tfk / rfksf] pkl:yltdf ;fgf] 
tTTjsf k/df0f'x¿ ;+of]hgeO{ 7"nf] tTTj 
/ phf{sf] lgdf{0f x'Gf] k|ls|of 

7"nf] k/df0f'sf] Go'lSno; 
ljR5]bg eO{ ;;fgf k/df0f'x¿ 
aGg] k|ls|of 

1 

 

-  ;"o{ / cGo tf/tdf ;~rfng eO/x]sf] 
x'G5   

k/df0f' phf{sf e6\6Lx¿df 
;~rfng ul/G5 

1 

4. kf/f]sf] pDng] tfkqmd pRr 357oC ePsf]n]      1 cª\s 
cNsf]xnsf] hDg] laGb' cToGt Go'g — 117oC ePsf]n]    1 cª\s 

5. ;fOsnsf] rSsf -6fo/_ 3'Dbf o;n] 8fOgfdf]sf] 6fpsf] 3'dfOlbG5  h;n] ubf{ leqsf] r'Das 
3'D5 / an/]vf sfl6Fbf ljB't pkkfbg x'G5 / alQ aNb5 .   1 cª\s 
;;fOsnsf] a]u a9\bf l56f] l56f] an/]vf sfl6P/ w]/} ljB't pkkfbg x'Fbf alQsf] rds a9\5 eg] 
;fOsnsf] j]u sd ubf{ sd ljB't pkfbg x'g] x'Fbf alQ dw'/f] aNb5 .  1 cª\s 

6. i) gfd – tfdf (Copper)        0.5 cª\s 
   Ans – d- Ans        0.5 cª\s 
II) kf/df0fljs ;+Vof – 29      0.5 cª\s 
    ;+oHotf – 1 / 2       0.5 cª\s 

7. – /f;folgs k|ltlqmofsf] cGTodf pTk|]/ssf] lk08 / /f;folgs agf]6df s'g} kl/jt{t x'Fb}g . 
           1 cª\s 
–  pTk]|/sn] k|ltlqmonfO{ ;'? u/fpg] sfd ub}{g . t/ ;'? eO;s]sf] /f;folgs k|ltlj|mofsf] 
ultnfO{ 36a9 u/fpFb\5 .        1 cª\s 

8. kmnfdsf] wfpM  
– DofUg]6fO6    0.5 cª\s 
– l;8]/fO6     0.5 cª\s 
tfdfsf] wfp M  
– So'k|fO6     0.5 cª\s 
– rfNsf];fO6 |      0.5 cª\s                                                      
                                                     H  

9. ;+/rgfTds ;'q                                       | 
                                                                       H – C - OH  1 cª\s 
                                                                               | 
                                                                               H 
/ª / elg{;x?nfO{ w'nfpg o;sf] k|of]u x'G5 .      1 cª\s 
 -jf cGo ;xL pQ/ n]v]df_ 

10. – /fgL df}/L / y'k|} efn] df}/Lx? 3f/af6 aflx/ lg:s]/ xfjfdf p8\b} ;Def]u ug]{ k|lqmofnfO{ gKrn 
ˆnfO6 jf d]l6ª\u ˆnfO6 elgG5 .       1 cª\s 
                                      
– /fgL df}/L ;fdfGo cj:yfdf jo:s eP/ lg:s]sf] # b]lv % lbgdf gKrn ˆnfO6 x'G5 .  

11. A – z/L/nfO{ ;Gt'ng /fV5  
  – df+zk]zLsf] 6f]g sfod ub{5 .       1 cª\s 
B– csfDo lqmofsf] d'Vo s]Gb| xf] .  
   – z/L/sf] ljleGg efu / dlitisaLr ;~rf/ ub{5 .     1 cª\s 
      -k|To]s s'g} Ps n]v]df_  

12. – vfgfdf g'gsf] dfqf a9L x'g'        1 cª\s 
– lg/Gt/ w"dkfg jf w]/} dBkfg ug'{       1 cª\s 

13. – x]df]lkmlnof /f]u nfu]sf] dflg;sf] z/L/df 3fp ePdf jf sf6]df /ut hDb}g / 3fp lgsf] x'g 
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ufx|f] x'G5 .         2 cª\s 
14. tf/fd08n M         2 cª\s 

gfdM sfn k'?if (Orion) 
cfsf/ M of]4f  
d'Vo tf/fsf] ;+Vof M &  
b]lvg] Ct' M lxpb   

Group'C' 
15. ;dfwfg, oxfF,  

:ofpsf] lk08 (m) = 200 g =  
k[YjLsf]] lk08 (M) = 6x1024 kg   
k[YjLsf]] cw{Jof; (R) = 6x1024 kg   
  ljZjJofkL u'?Tjfsif{0f cr/ (G) = 6.67x10-11 Nm2/kg2   
i :ofpsf] k[YjLlt/ u'?Tjk|j]u (g1) = ? 
ii k[YjLsf] :ofplt/ u'?Tjk|j]u (g2) = ?  
yfxf ePsf]   
 F =  
=  
=  
 
=  
 

=  
 
=  N         1 cª\s 
I. an (F) = 1.954 N 
   :ofpsf] lk08 (m) = 0.2 Kg 
 :ofpsf] k[YjLlt/ u'?Tjk|j]u (g1) =  m/s2  1 cª\s 
ii k[YjLsf] :ofplt/ u'?Tjk|j]u (g2) =   

    1 cª\s 
 

16. i. cb"/ b[li6 (Short sightedness)    0.5 cª\s 
ii. l;lno/L df+zk]zL v'lDrP/ n]G;nfO{ kof{Kt kftn] agfpg g;Sgfn] n]G; afSnf] x'Fbf s]lGb|s/0f 
b"/L 36\5 To;]n] cfFvfdf 6f9fsf] a:t'sf] cfs[lt /]l6gfeGbf cufl8 g} aGb5 .  
           1 cª\s 
 
  
           1.5 cª\s 
iii.   

17. I. 2Mg + O2  2MgO        1 cª\s 
II. MgO + H2O  Mg (OH)2       1 cª\s  
III. k]6df clDnokg a9]sf] a]nf anta acid sf] ?kdf clDnokg sd ug{ vfOG5 .  1 cª\s  

18. I. sDkf]i6 dnn] jfo'd08nnfO{ gsf/fTds c;/ kfb}{g / df6f]sf] clDno jf Iffl/okg yk36 
kfb}{g .  1 cª\s 
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II. oL dn s'lxg], ;8\g], uNg] ePsf]n] jftfj/0fnfO{ k|b"if0f x'gaf6 hf]ufpF5 .   1 cª\s 
III. df6fdf kfgLsf] dfq hfufO /fV5 .  -jf cGo ;xL pQ/ n]v]df_  1 cª\s 

19. I. nf]k x'g nfu]sf jg:kltsf] ;+/If0f ug{ ;lsG5 . .     1 cª\s 
II. pxL k|sf/sf c;+Vo jg:kltx? cf}Bf]lus ?kdf pdfg{ ;lsG5 . jf yf]/} ;dodf w]/} pTkfbg 
ug{ ;lsG5 . _          1 cª\s 
III. /f]u /lxt lj?jfsf] ljsf; ug{ ;lsG5 .  -jf cGo ;xL pQ/ n]v]df_        1 cª\s 

20. I. cf}Bf]lusLs/0fn] pBf]u, snsf/vfgf, dflg;sf] a;f]jf;, ;jf/L ;fwfgx?sf] a[l4 x'G5 . pBf]u, 
snsf/vfgf, dflg;sf] a;f]jf;, ;jf/L ;fwfgx?af6 lgl:sPsf] Uof;sf sf/0fn] ubf{ ;Nk/ 
8fOcS;fO8, gfO6«f]hg 8fOcS;fO8 nufotsf Uof;x? jfo' d08ndf ldl;g k'Ub5 .  
          2 cª\s 
II. jiff{ x'Fbf oL 3'ngzLn cS;fO8x? kfgL;Fu k|ltlqmof x'Fbf ;Nkm\o'/; cDn, ;Nkm\o'l/s cDn, 
gfl6«s cDn agL clDno jif{sf] ?kdf hldgdf v:5g . kmn:j?k wft' / r'g9'+ufaf6 ag]sf 
P]ltxfl;s / k'/ftflTjs dxTjsf :df/snfO{ k|ltlqmof u/]/ lbgk|ltlbg gi6 kfb}{ hfG5g\ . 
            2 cª\s 

Group'D' 
21.  ;dfwfg,  

oxfF,  
;]s]08/L SjfOnsf] kmGsf (N2)=  
k|fOd/L SjfOnsf] kmGsf (N1) =  
k|fOd/L ef]N6]h (V1) = 220V   
;]s]08/L ef]N6]h (V2) = ? 
;"qfg';f/,   

 

 
55V 
;]s]G8/L ef]N6]h 55V x'G5 .        1.5 cª\s 
 
6«fG;kmd{/n] ljB't ;fdfYo{nfO{ oyfjt /fvL efN6]h (E.m.f) sf] dfqfnfO{ a9fpg jf 36fpg 
;Sb5 eg] OGe6{/n] ljB'tLo k|;f/0f ePsf] cj:yfdf cN6/g]l6ª s/]G6 (PC) nfO{ 8fO/]S6 s/]G6 
(DC) df ?kfGt/0f u/L Aof6«Ldf ;~ro ub{5 / km]/L ljB'tLo k|;f/0f gePsf] cj:yfdf Aof6«Ldf 
;~ro ul/Psf] DC nfO{ AC df kl/0ft u/L ljB'tLo pks/0fx?nfO{ ;lhn} k|of]u ug{ ;lsg] 
agfpF5 .        2.5 cª\s 
       

22.  
 
 
 
 
 
 
UofF; agfpg] ;xL lrq        1.5 cª\s 
s'g} b'O{ efusf] gfdfª\sg u/]df              0.5+ 0.5 cª\s                                                                            
CaCO3 + 2HClCaCu+ H2O+CO2     1 cª\s 
r'gkfgL b'lwnf] x'G5 .        0.5 cª\s 
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23.  
 
 
 
 
 
  ! 
 
 
 
 
 
 
 
          2 cª\s 
 
lhgf]6fOksf] cg'kftM  
z'4 /ftf] M l7dfxf /ftf] M z'4 ;]tf]  1 : 2 : 1    0.5 cª\s 
lkmgf]6fOksf] cg'kftf M /ftf] M ;]tf]  3 : 1     0.5 cª\s 
d]08nsf] k|jntfsf] lgodn] ubf{ klxnf] j+zdf k|jn u'0f dfq b]vf k5{ . oxfF d';fsf] nflu sfnf] 
k|jn / ;]tf] n'Kt u'0f xf] .       1 cª\s 
 

24. CFC n] cfkm} cf]hf]g txnfO{ gi6 eg] ub}{g t/ o;n] ;"o{af6 pT;lh{t k/fj}hgL ljls/0fsf] 
pkl:yltdf /;folgs k|ltlqmofaf6 >[ª\vnfa4 ?kdf kf/df0fljs Snf]l/gx?sf] pTkfbg ub{5 . 
           1 cª\s 
ltg} kf/df0fljs Snf]l/gn] g} cf]hf]g txnfO{ gi6 ub{5g\ . Ps kf/df0fljs Snf]l/gdf nueu 
Psnfv eGbf a9L cf]hf]gsf] c0f' gi6 ug]{ Ifdtf x'G5 . To;}n] jfo'd08nsf] ;dtfk d08ndf 
CFC sf] dfqf sdug{ o;sf] k|of]unfO{ lj:yflkt ug'{ k/]sf] xf] .  2 cª\s 
;fy} CFC xl/t u[x k|efjsf] nflu klg lhDd]jf/ 5 .     1 cª\s 
 

 


